SECTION B.10 Exercises

cost [low] inigh] = bostcosyy
rool [low] {high: - bestraoi:

)
/* Prinl strucrura of binary search tree */

print_rootiroct, 2, n-1);

/* friat the root of the subtree sparning keys
*low’ tarough *highs */

void rrimi_roaz_(int **root, int low, int highn)
printf (“Root of tree spanging %d-%d is %¥d\n",
low, high, root[low][high+i]):
i€ (lew < root[low] [nighel]-~1i
orint_root {rcot, low, root{low]{bigh+1)-1);
if iroot[low] Thigh+l; < high-1j
print_root {root, root[low]{high+l:+l, high);
i

/* Allocdate a two-dimensional array with ‘m* rows and
‘p' aolumas, where each entry occupies ‘sizg’ bytes */

void alloc matrix (void *¥*a, int m, int n, int size)
{

ink i;

vaid *steorags;

s.oraga = (void ¥) malloc {m * n * sizey;

*a = (yoid **) malloc {m * sizaoE(void *));

for i = 0; 1 < m; i+4) { .

(*a}{i] storage + i * o * size;

——

Figure 8.22 (conid.) C program implementing dynamic programming
algorilhm to find an optimal binary search tree.

Use the partitioning-communication-agglomeration-mapping design
methodology lo implement a parallel version of this program. (Hint: You
need to find an agglomeration that will allow multiple processes to be
computing concurrently.)
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